HARDWARE/TAPES/TERMINAL STRIPS ER’:D ®




THE EDGE GROUP - 2014

S~
(V9]
(5 ]
Q.
=T
o
S~
ld
o=
=T
=
(=]
o=
=T
= =

(%]
(-9
[~
o
()
—l
=T
—
=
(-~
el
-

2BR12 - Bridle ring 3/4 dia. #8 wire*

éf“"g_
-1

ERICO

ERICO

ERICO

ERICO

0
1

ERICO

Bridle ring 3/4 dia. #8 wire*

Erico
Bridle ring 3/4 dia. #8 wire*

Part Number Weight Min. Quantity

2BR12 2.6 N-A

Bridle ring 1-1/4 dia. #8 wire*

Erico

Bridle ring 1-1/4 dia. #8 wire*
Part Number Weight Min. Quantity
2BR20 3.8 N-A

Bridle ring 2 dia. #8 wire*

Erico
Bridle ring 2 dia. #8 wire*
Part Number

Weight Min. Quantity

2BR32 5.6 N-A

Bridle ring 2-1/2 dia. #8 wire*

Erico

Bridle ring 2-1/2 dia. #8 wire*
Part Number Weight Min. Quantity
2BR8 21 N-A

Bridle ring 3/4 dia 10-24 threaded*

Erico

Bridle ring 3/4 dia 10-24 threaded*
Part Number Weight Min. Quantity
2BRT12 2.6 N-A

IE' JaN ELECTRONIC SUPPLIES, INC. 860_ 4 42_ 4386

CADDY.,
.-

ERICO

CADD)
Sl

ERICO

Bridle ring 1-1/4 dia. 10-24 thread...

Erico
Bridle ring 1-1/4 dia. 10-24 threaded*
Weight

Part Number Min. Quantity

2BRT20 3.8 N-A

Bridle ring 2 dia. 10-24 threaded*

Erico
Bridle ring 2 dia. 10-24 threaded*
Min. Quantity

Part Number Weight

2BRT32 53 N-A

Bridle ring 1/2 dia. 10-24 threaded...

Erico

Bridle ring 1/2 dia. 10-24 threaded*
Part Number Weight Min. Quantity
2BRT8 2.2 N-A

Bridle Ring 1-1/4 Dia 1/4-20 thread...

Erico
Bridle Ring 1-1/4 Dia 1/4-20 threaded*

Part Number Weight Min. Quantity

4BRT20 6.9 N-A

Bridle Ring 1-1/4 Dia 1/4-20 thread...

Erico

Bridle Ring 1-1/4 Dia 1/4-20 threaded - blister pack*
Part Number Weight Min. Quantity
4BRT20BP 8.6 N-A




THE EDGE GROUP - 2014

(AT124234 - #12 thru 1/4 wire - plain or thread...

Bridle Ring 1-1/4 Dia. #14 wood scr...

Erico

Bridle Ring 1-1/4 Dia. #14 wood screw thread*
Part Number Weight Min. Quantity
4BRT20WS 6.5 N-A

Bridle Ring 1-1/4 Dia. #14 wood scr...

Erico
Bridle Ring 1-1/4 Dia. #14 wood screw thread- blister pack*
Weight

Part Number Min. Quantity

4BRT20WSBP 9 N-A

Bridle Ring 2 Dia. 1/4-20 threaded*

Erico
Bridle Ring 2 Dia. 1/4-20 threaded*
Weight

Part Number Min. Quantity

4BRT32 8.9 N-A

Bridle Ring 2 Dia. 1/4-20 threaded ...

Erico
Bridle Ring 2 Dia. 1/4-20 threaded - blister pack*
Weight

Part Number Min. Quantity

4BRT32BP 10.1 N-A

Bridle Ring 2 Dia. #14 wood screw t...

Erico
Bridle Ring 2 Dia. #14 wood screw thread*
Weight

Part Number Min. Quantity

4BRT32WS 9.4 N-A

-1

ERICO

1N

ERICO

.1

ERICO

-1

ERICO

IE' JaN ELECTRONIC SUPPLIES, INC. 860_ 4 42_ 4386

Bridle Ring 2 Dia. #14 wood screw t...

Erico
Bridle Ring 2 Dia. #14 wood screw thread - blister pack*

Part Number Weight Min. Quantity

4BRT32WSBP 10.1 N-A

Bridle Ring 4 Dia. 1/4-20 threaded*

Erico
Bridle Ring 4 Dia. 1/4-20 threaded*
Min. Quantity

Part Number Weight

4BRT64 8.6 N-A

Hammer-on 1/8 thru 1/4 flange - bot...

Erico
Hammer-on 1/8 thru 1/4 flange - bottom mount rotates 360 deg - 3/4
dia loop*

Part Number Weight Min. Quantity

(AT1224 9.9 N-A

Hammer-on 1/8 thru 1/4 flange - 3/4...

Erico
Hammer-on 1/8 thru 1/4 flange - 3/4 dia loop*
Part Number

Weight Min. Quantity

CAT12245M 71 N-A

#12 thru 1/4 wire - plain or thread...

Erico
#12 thru 1/4 wire - plain or threaded rod and 1/8 thru 3/8 flange - 3/4
dia loop*

Part Number Weight Min. Quantity

CAT124234 3.6 N-A

—
m
=~
=
—
=
—
WA
—
=~
-
W

/S1dV1/3I4YMAYVH




THE EDGE GROUP - 2014

S~
(V9]
(5 ]
Q.
=T
o
S~
ld
o=
=T
=
(=]
o=
=T
= =

(%]
(-9
[~
o
()
—l
=T
—
=
(-~
el
-

CAT1258 - Hammer-on 5/16 thru 1/2 flange - bo...

0
Sla.

ERICO

ERICO

ERICO

ERICO

0
1

ERICO

Hammer-on 5/16 thru 1/2 flange - bo...

Erico

Hammer-on 5/16 thru 1/2 flange - bottom mount rotates 360 deg -
3/4 dialoop*

Part Number Weight Min. Quantity

CAT1258 9.5 N-A

Hammer-on 5/16 thru 1/2 flange - 3/...

Erico

Hammer-on 5/16 thru 1/2 flange - 3/4 dia loop*
Part Number Weight Min. Quantity
CAT12585M 73 N-A

3/8 Plain or threaded rod and 3/8 t...

Erico

3/8 Plain or threaded rod and 3/8 thru 9/16 flange - 3/4 dia loop*
Part Number Weight Min. Quantity
CAT126234 9.7 N-A

Hammer-on 1/2 thru 3/4 flange - bot...

Erico
Hammer-on 1/2 thru 3/4 flange - bottom mount rotates 360 deg - 3/4
dia loop*

Part Number Weight Min. Quantity

CAT12912 5.3 N-A

Hammer-on 1/2 thru 3/4 flange - 3/4...

Erico

Hammer-on 1/2 thru 3/4 flange - 3/4 dia. loop*
Part Number Weight Min. Quantity
CAT12912SM 71 N-A

IE' JaN ELECTRONIC SUPPLIES, INC. 860_ 4 42_ 4386

CADD)
Sl

ERICO

1/16 thru 1/4 Z purlin - 3/4 dia lo...

Erico
1/16 thru 1/4 Z purlin - 3/4 dia loop*
Weight

Part Number Min. Quantity

CAT12AF14 72 N-A

Screw-on 1/8 thru 1/2 flange - 3/4 ...

Erico
Screw-on 1/8 thru 1/2 flange - 3/4 dia loop*

Part Number Weight Min. Quantity

CAT12BC 7.8 N-A

Screw-on 1/8 thru 5/8 flange -3/4 d...

Erico

Screw-on 1/8 thru 5/8 flange -3/4 dia loop*
Part Number Weight Min. Quantity
CAT12BC200 1.2 N-A

Screw-on 1/8 thru 5/8 flange - rota...

Erico
Screw-on 1/8 thru 5/8 flange - rotates 360 deg - 3/4 dia loop*

Part Number Weight Min. Quantity

CAT12BC200B 11.5 N-A

Screw-on 1/8 thru 1/2 flange - rota...

Erico

Screw-on 1/8 thru 1/2 flange - rotates 360 deg - 3/4 dia loop*
Part Number Weight Min. Quantity
CAT12BCB 9.1 N-A




THE EDGE GROUP - 2014

CAT21912SM - Hammer-on 1/2 thru 3/4 flange - 1-5...

[\ Erico @ Erico
1/16 thru 1/4 vertical flange - 3/4 dia loop* Hammer-on 5/16 thru 1/2 flange - rotates 360 deg - 1-5/16 dia loop*
ERICO Part Number Weight Min. Quantity ERICO Part Number Weight Min. Quantity
CATI2VF14 72 N-A CAT2158 96 N-A — L
m >
= =
=9
—
= b —]
=
. = m
Acoustical tee bar assembly Hammer-on 5/16 thru 1/2 flange - 1-... w ~
@ Erico @ Erico - =
Acoustical tee bar assembly Hammer-on 5/16 thru 1/2 flange - 1-5/16 dia loop* ; :
ERICO Part Number Weight Min. Quantity ERICO Part Number Weight Min. Quantity w &
CAT16HPTS 73 N-A CAT21585M 73 N-A

1/16 thru 1/4 vertical flange - 3/4...

Hammer-on 1/8 thru 1/4 flange - rot...

Hammer-on 5/16 thru 1/2 flange - ro...

3/4 Plain or threaded rod and 3/8 t...

Erico Erico
g't‘) Hammer-on 1/8 thru 1/4 flange - rotates 360 deg - 1-5/16 dia loop* 3/4 Plain or threaded rod and 3/8 thru 9/16 flange - 1-5/16 dia loop*
ERICO Part Number Weight Min. Quantity ERICO Part Number Weight Min. Quantity
CAT2124 9.9 N-A CAT216Z34 6.5 N-A

Hammer-on 1/8 thru 1/4 flange - 1-5...

Erico

Hammer-on 1/2 thru 3/4 flange - rot...

Erico

.l Hammer-on 1/8 thru 1/4 flange - 1-5/16 dia loop* Hammer-on 1/2 thru 3/4 flange - rotated 360 deg 1-5/16 dia loop*
Part Number Weight Min. Quantity Part Number Weight Min. Quantity
ERICO ERICO
CAT21245M 71 N-A CAT21912 53 N-A

#12 thru 1/4 wire; plain or threade...

Hammer-on 1/2 thru 3/4 flange - 1-5...

Erico Erico
g't‘) #12 thru 1/4 wire; plain or threaded rod and 1/8 thru 3/8 flange - Hammer-on 1/2 thru 3/4 flange - 1-5/16 dia loop*
ERICO 1-5/16loop ERICO Part Number Weight Min. Quantity
Part Number Weight Min. Quantity
CAT21912SM 71 N-A
(AT214734 9.8 N-A

IE' JaN ELECTRONIC SUPPLIES, INC. 860_ 4 42_ 4386




THE EDGE GROUP - 2014

CAT21AF14 - 1/16 thru 1/4 Z purlin - 1-5/16 dia...

0
Sla.

ERICO

P~
wl Q.
=
-
~ W
i
S <
< =
-
a=
o o=
i
=

ERICO

ERICO

ERICO

0
1

ERICO

1/16 thru 1/4 Z purlin - 1-5/16 dia...

Erico

1/16 thru 1/4 Z purlin - 1-5/16 dia loop*
Part Number Weight Min. Quantity
CAT21AF14 72 N-A

Screw-on 1/8 thru 1/2 flange - 1-5/...

Erico

Screw-on 1/8 thru 1/2 flange - 1-5/16 dia loop*
Part Number Weight Min. Quantity
CAT21BC 7.8 N-A

Screw-on 1/8 thru 5/8 flange - 1-5/...

Erico

Screw-on 1/8 thru 5/8 flange - 1-5/16 dia loop*
Part Number Weight Min. Quantity
CAT21BC200 1.2 N-A

Screw-on 1/8 thru 5/8 flange - rota...

Erico

Screw-on 1/8 thru 5/8 flange - rotates 360 deg - 1-5/16 dia loop
Part Number Weight Min. Quantity
CAT21BC2008 127 N-A

Screw-on 1/8 thru 1/2 flange - rota...

Erico

Screw-on 1/8 thru 1/2 flange - rotates 360 deg - 1-5/16 dia loop
Part Number Weight Min. Quantity
CAT21B(B 9.1 N-A

IE' JaN ELECTRONIC SUPPLIES, INC. 860_ 4 42_ 4386

CADDY.,
.-

ERICO

CADD)
Sl

ERICO

1/16 thru 1/4 vertical flange - 1-5...

Erico
1/16 thru 1/4 vertical flange - 1-5/16 dia loop*
Weight

Part Number Min. Quantity

CAT21VF14 72 N-A

Hammer-on 1/8 thru 1/4 flange - rot...

Erico
Hammer-on 1/8 thru 1/4 flange - rotates 360 deg. - 2 dia loop*
Part Number

Weight Min. Quantity

CAT3224 5.2 N-A

Hammer-on 1/8 thru 1/4 flange - 2 d...

Erico
Hammer-on 1/8 thru 1/4 flange - 2 dia loop*
Weight

Part Number Min. Quantity

CAT32245M 7.6 N-A

#12 thru 1/4 wire plain or threaded...

Erico

#12 thru 1/4 wire plain or threaded rod an 1/8 thru 3/8 flange - 2 dia
loop*

Part Number Weight Min. Quantity

CAT324734 8 N-A

Hammer-on 5/16 thru 1/2 flange - ro...

Erico
Hammer-on 5/16 thru 1/2 flange - rotates 360 deg - 2 dia loop*
Weight

Part Number Min. Quantity

CAT3258 5.8 N-A




THE EDGE GROUP - 2014

CAT32VF14 - 1/16 thru 1/4 vertical flange - 2 d...

[\ Erico Erico
Hammer-on 5/16 thru 1/2 flange - 2 dia loop* Screw-on 1/8 thru 1/2 flange - 2 dia loop*
ERICO Part Number Weight Min. Quantity ERICO Part Number Weight Min. Quantity
CAT32585M 81 N-A CAT328¢ 86 N-A — L
m >
= =
=9
= b —]
=
. . = m
3/8 Plain or threaded rod and 3/8 t... Screw-on 1/8 thru 5/8 flange - 2 di... w ~
-
@ Erico @ Erico ; =
3/8 Plain or threaded rod and 3/8 thru 9/16 flange - 2 dia loop* Screw-on 1/8 thru 5/8 flange - 2 dia loop* ; :
ERICO Part Number Weight Min. Quantity ERICO Part Number Weight Min. Quantity w &
(AT326734 11 N-A CAT32B(200 59 N-A

Hammer-on 5/16 thru 1/2 flange -2 ...

Hammer-on 1/2 thru 3/4 flange - rot...

Erico

Screw-on 1/8 thru 1/2 flange - 2 di...

Screw-on 1/8 thru 5/8 flange rotate...

Erico

g't‘) Hammer-on 1/2 thru 3/4 flange - rotates 360 deg - 2 dia loop* Screw-on 1/8 thru 5/8 flange rotates 360 deg - 2 dia loop*
ERICO Part Number Weight Min. Quantity ERICO Part Number Weight Min. Quantity
CAT32912 5.1 N-A CAT32B(200B 6.8 N-A

Hammer-on 1/2 thru 3/4 flange - 2 d...

Screw-on 1/8 thru 1/2 flange rotate...

@ Erico Erico
CADDY. Hammer-on 1/2 thru 3/4 flange - 2 dia loop* Screw-on 1/8 thru 1/2 flange rotates 360 deg - 2 dia loop*
.l 9 P Pl g g p
ERICO Part Number Weight Min. Quantity ERICO Part Number Weight Min. Quantity
(AT329125M 8.8 N-A (AT32B(B 5.4 N-A

1/16 thru 1/4 Z purlin - 2 dia loop...

1/16 thru 1/4 vertical flange - 2 d...

Erico Erico
CADD) 1/16 thru 1/4 Z purlin - 2 dia loop* 1/16 thru 1/4 vertical flange - 2 dia loop*
ERICO Part Number Weight Min. Quantity ERICO Part Number Weight Min. Quantity
CAT32AF14 83 N-A CAT32VF14 8.6 N-A

IE' JaN ELECTRONIC SUPPLIES, INC

- 860-442-4386




THE EDGE GROUP - 2014

S~
(V9]
(5 ]
Q.
=T
o
S~
ld
o=
=T
=
(=]
o=
=T
= =

(%]
(-9
(=~
o
()
—l
=T
—
=
(-~
el
-

CAT425 - 4 or 6 dia loop*

4 or 6 dia loop*
) Erico
4or 6 dia loop*
ERICO Part Number Weight Min. Quantity
CAT425 52 N-A
Hammer-on 1/8-1/4 flange*
) Erico
Hammer-on 1/8-1/4 flange*
ERICO Part Number Weight Min. Quantity
CAT425245M 5.5 N-A
Hammer-on 5/16 - 1/2 flange*
[\ Erico
Hammer-on 5/16 - 1/2 flange*
ERICO Part Number Weight Min. Quantity
CAT425585M 55 N-A
Hammer-on 9/16-3/4 flange*
i\ Erico
Hammer-on 9/16-3/4 flange*
ERICO Part Number Weight Min. Quantity
CAT4259125M 5.6 N-A
Hammer-on 1/16-1/4 Z purlin*
[\ Erico
Hammer-on 1/16-1/4 Z purlin*
ERICO Part Number Weight Min. Quantity
CAT425AF14 5.8 N-A

IE' JaN ELECTRONIC SUPPLIES, INC. 860_ 4 42_ 4386

¢ 1
CADDY,
.

ERICO

{5
CADDY.
p.|

ERICO

)
CAIDDY.

Sl

ERICO

]
CADDY,

.1

ERICO

)
CAIDDY.

Sl

ERICO

Screw-on 1/8-1/2 flange - rotates 3...

Erico
Screw-on 1/8-1/2 flange - rotates 360 deg*
Weight

Part Number Min. Quantity

CAT425BC 59 N-A

Screw-on 1/8-5/8 flange - rotates 3...

Erico
Screw-on 1/8-5/8 flange - rotates 360 deg*
Part Number

Weight Min. Quantity

(CAT425BC200 6.4 N-A

Hammer-on 1/16-1/4 vertical flange*

Erico
Hammer-on 1/16-1/4 vertical flange*
Weight

Part Number Min. Quantity

CAT425VF14 5.8 N-A

Caddy CAT 64 to 1/8-1/4 flange bott...

Erico
Caddy CAT 64 to 1/8-1/4 flange bottom mount™

Part Number Weight Min. Quantity
CAT6424 147 N-A

Caddy CAT 64 to 1/8-1/4 flange*

Erico

Caddy CAT 64 to 1/8-1/4 flange*
Part Number Weight Min. Quantity
CAT64245M 14.2 N-A




THE EDGE GROUP « 2014
CATHP4Z34 - Rod/flange assembly for #12 SWG - 1...
________________________________________________________________________________________________________________________________________
Caddy CAT 64 to 5/16-1/2 flange bot... Caddy CAT 64 to (D1B assembly to fl...
[\ Erico {1 Erico
Caddy CAT 64 to 5/16-1/2 flange bottom mount* Caddy CAT 64 to (D1B assembly to floor
ERICO Part Number Weight Min. Quantity ERICO Part Number Weight Min. Quantity
CAT6458 14.9 N-A CAT64CD1B 154 N-A | -
m >
= X
=9
==
=
. . = m
Caddy CAT 64 to 5/16-1/2 flange* Cable Retainer 50 mm; 2 dia. w :
[\ Erico {1 Erico ; p—
Caddy CAT 64 to 5/16-1/2 flange* Cable Retainer 50 mm; 2 dia. ; :
EeRICO Part Number Weight Min. Quantity ERICO Part Number Weight Min. Quantity wh &
CAT64585M 143 N-A CATCR50 0.8 N-A
Caddy CAT 64 to 1/2-3/4 flange bott... Hammer-on assembly for 1/4-1/8 flan...
¢l Erico {7 Erico
éﬁ;ﬁ Caddy CAT 64 to 1/2-3/4 flange bottom mount* Hammer-on assembly for 1/4-1/8 flange with 360 rotation
ERICO Part Number Weight Min. Quantity ERICO Part Number Weight Min. Quantity
CAT64912 153 N-A CATHP24 21 N-A
Caddy CAT 64 to 1/2-3/4 flange* Hammer-on assembly for 1/8-1/4 flan...
[\ Erico {1 Erico
Caddy CAT 64 to 1/2-3/4 flange* Hammer-on assembly for 1/8-1/4 flange
EeRICO Part Number Weight Min. Quantity ERICO Part Number Weight Min. Quantity
CAT649125M 144 N-A CATHP24SM 26 N-A
Caddy CAT 64 to BC assembly* Rod/flange assembly for #12 SWG - 1...
¢l Erico {7 Erico
5.?:; Caddy CAT 64 to BCassembly* Rod/flange assembly for #12 SWG - 1/4 wire or plain rod; 1/4 threaded
E;?n:u Part Number Weight Min. Quantity E;'ﬂl:a rod & 1/8-3/8 flange
Part Number Weight Min. Quantity
CAT64BC 14.8 N-A
CATHP4Z34 23 N-A
IE' JaN ELECTRONIC SUPPLIES, INC. 860_442_4386
9




THE EDGE GROUP - 2014

S~
(V9]
(5 ]
Q.
=T
o
S~
ld
o=
=T
=
(=]
o=
=T
= =

(%]
(-9
[~
o
()
—l
=T
—
=
(-~
el
-

10

CATHP58 — Hammer-on assembly for 5/16-1/2 fla...

éf“"g_
-1

ERICO

ERICO

ERICO

ERICO

0
1

ERICO

Hammer-on assembly for 5/16-1/2 fla...

Erico
Hammer-on assembly for 5/16-1/2 flange with 360 rotation
Weight

Part Number Min. Quantity

CATHP58 23 N-A

Hammer-on assembly for 5/16-1/2 fla...

Erico
Hammer-on assembly for 5/16-1/2 flange
Weight

Part Number Min. Quantity

CATHP585M 2.8 N-A

Rod/flange assembly for 3/8 threade...

Erico

Rod/flange assembly for 3/8 threaded rod & 3/8-9/16 flange
Part Number Weight Min. Quantity
CATHP6234 23 N-A

Hammer-on assembly for 1/2-3/4 flan...

Erico
Hammer-on assembly for 1/2-3/4 flange with 360 rotation
Weight

Part Number Min. Quantity

CATHP912 2.6 N-A

Hammer-on assembly for 1/2-3/4 flan...

Erico
Hammer-on assembly for 1/2-3/4 flange
Weight

Part Number Min. Quantity

CATHP9125M 15 N-A

JaN ELECTRONIC SUPPLIES, INC. 860_ 4 42_ 4386

Angle bracket with 1/4 Threaded Rod...

Erico

Angle bracket with 1/4 Threaded Rod Mounting Hole
Part Number Weight Min. Quantity
CATHPA4 1.7 N-A

Angle bracket with 3/8 Threaded Ro...

Erico

Angle bracket with 3/8 Threaded Rod Mounting Hole
Part Number Weight Min. Quantity
CATHPAG 1.7 N-A

Z purlin assembly for 1/16-1/4 flan...

Erico
Z purlin assembly for 1/16-1/4 flange
Weight

Part Number Min. Quantity

CATHPAF14 31 N-A

Angle bracket with 3/16 Mounting Ho...

Erico

Angle bracket with 3/16 Mounting Hole
Part Number Weight Min. Quantity
CATHPAN 1.7 N-A

Screw-on beam assembly for 1/8-1/2 ...

Erico
Screw-on beam assembly for 1/8-1/2 flange
Weight

Part Number Min. Quantity

CATHPBC 35 N-A




THE EDGE GROUP - 2014

CATHPS4 - Straight bracket with .282 Mounting...

QS} Erico @ Erico
Screw-on beam assembly for 1/8-5/8 flange Underfloor assembly for 1 square pedestal
ERICO Part Number Weight Min. Quantity ERICO Part Number Weight Min. Quantity
CATHPBC200 34 N-A CATHPCD2.58 31 N-A —_ =
m >
= =
=9
—
= b —]
=
= m
Screw-on beam assembly for 1/8-5/8 ... Underfloor assembly for 7/8 square ... w ~
-
@ Erico @ Erico ; =
Screw-on beam assembly for 1/8-5/8 flange with 360 rotation Underfloor assembly for 7/8 square pedestal ; :
ERICO Part Number Weight Min. Quantity ERICO Part Number Weight Min. Quantity w &
CATHPB(2008B 36 N-A CATHP(D2B 29 N-A
Screw-on beam assembly for 1/8-1/2 ... Easy strut assembly
@ Erico @ Erico
éﬁ;ﬁ Screw-on beam assembly for 1/8-1/2 flange with 360 rotation Easy strut assembly
ERICO Part Number Weight Min. Quantity ERICO Part Number Weight Min. Quantity
CATHPB(B 21 N-A CATHPESC 2.2 N-A
Underfloor assembly for 3/4 round p... Cable Puller for CATHP
@ Erico @ Erico
Underfloor assembly for 3/4 round pedestal Cable Puller for CATHP
EeRICO Part Number Weight Min. Quantity ERICO Part Number Weight Min. Quantity
CATHPCDOB 1.8 N-A CATHPPLR 1.8 N-A

Screw-on beam assembly for 1/8-5/8 ...

Underfloor assembly for 7/8-1 roun...

Underfloor assembly for 1 square pe...

Straight bracket with .282 Mounting...

Erico Erico
5.?:; Underfloor assembly for 7/8-1 round pedestal or 3/4 square pedestal Straight bracket with .282 Mounting Hole
ERICO Part Number Weight Min. Quantity ERICO Part Number Weight Min. Quantity
CATHPCD1B 24 N-A CATHPS4 11 N-A

IE' JaN ELECTRONIC SUPPLIES, INC. 860_ 4 42_ 4386

1




THE EDGE GROUP - 2014

S~
(V9]
(5 ]
Q.
=T
o
S~
ld
o=
=T
=
(=]
o=
=T
= =

(%]
(-9
[~
o
()
—l
=T
—
=
(-~
el
-

12

CATHPTM - Tree mounting bracket

éf“"g_
-1

ERICO

ERICO

ERICO

ERICO

0
1

ERICO

Tree mounting bracket

Erico
Tree mounting bracket
Part Number

Weight Min. Quantity

CATHPTM 2.7 N-A

Cpurlin assembly for 1/16-1/4 vert...

Erico
Cpurlin assembly for 1/16-1/4 vertical flange
Weight

Part Number Min. Quantity

CATHPVF14 3.4 N-A

3/8 Caddy ROD LOCK Anchor Screw

Erico

3/8 Caddy ROD LOCK Anchor Screw
Part Number Weight Min. Quantity
CRLA37EG 6.7 N-A

3/8 Caddy ROD LOCK Beam Clamp

Erico

3/8 Caddy ROD LOCK Beam Clamp
Part Number Weight Min. Quantity
(RLB37EG 26.8 N-A

3/8 Caddy ROD LOCK Channel Nut

Erico

3/8 Caddy ROD LOCK Channel Nut
Part Number Weight Min. Quantity
CRLS37EG 175 N-A

IE' JaN ELECTRONIC SUPPLIES, INC. 860_ 4 42_ 4386

Low voltage single gang plate brack...

Erico
Low voltage single gang plate bracket®
Weight

Part Number Min. Quantity

MP1 6.1 N-A

Low voltage single gang bracket*

Erico
Low voltage single gang bracket*®
Part Number

Weight Min. Quantity

MP1P 5 N-A

Low voltage single gang bracket - b...

Erico
Low voltage single gang bracket - blister pack*
Weight

Part Number Min. Quantity

MP1PBP 2.5 N-A

Plate mounting bracket for new work...

Erico
Plate mounting bracket for new work*
Part Number

Weight Min. Quantity

MP1S 3.7 N-A

Double gang plate mounting bracket

Erico
Double gang plate mounting bracket
Weight

Part Number Min. Quantity

MP2 1 N-A




THE EDGE GROUP - 2014
SN50 - 1/2 SN Series Nut
________________________________________________________________________________________________________________________________________
Double gang plate mounting bracket ... Double gang screws to drywall - scr...
[\ Erico {1 Erico
Double gang plate mounting bracket for new work* Double gang screws to drywall - screws included*
E;?IED Part Number Weight Min. Quantity E;i.ll:a Part Number Weight Min. Quantity
MP2S 5 N-A MPLS2 12.8 N-A - X
m >
= X
=9
—
= >
= 2
Low voltage multi-gang bracket Versatile Thread Impression w5
[\ Erico @ Erico ; =
Low voltage multi-gang bracket* Versatile Thread Impression ; :
E;'m:l:l Part Number Weight Min. Quantity E;WED Part Number Weight Min. Quantity wh &
MP34p 1.8 N-A MPVTI 13 N-A
Low voltage double gang bracket* 1/4 SN Series Nut
¢l Erico {7 Erico
Low voltage double gang bracket* 1/4 SN Series Nut
E;an:u Part Number Weight Min. Quantity E;i.ll:a Part Number Weight Min. Quantity
MPAL2 6 N-A SN25 32 N-A
Low voltage double gang bracket - b... 3/8 SN Series Nut
[\ Erico [\ Erico
Low voltage double gang bracket - blister pack* 3/8 SN Series Nut
E;'m:l:l Part Number Weight Min. Quantity E;WED Part Number Weight Min. Quantity
MPAL2BP 25 N-A SN37 5.1 N-A
Single gang screws to drywall - scr... 1/2 SN Series Nut
¢l Erico {7 Erico
Single gang screws to drywall - screws included* 1/2 SN Series Nut
E;an:u Part Number Weight Min. Quantity E;i.ll:a Part Number Weight Min. Quantity
MPLS 8.2 N-A SN50 1n N-A
IE' JaN ELECTRONIC SUPPLIES, INC. 860_442_4386
13




